Fill In The Blanks...

Simultaneous Equation

s (different y coefficients)

Multiply one Carry out Substitute State
Question or both s:I:Itcll-ac::|;7 addition or ‘(’)\:,I(')tr: x into one \(I,\::;rk both
equations : subtraction equation Y | answers
4x + 2y = 18
2x+y=9 4x + 2y =18 _ _ _ 2x +y =9 _ x =4
X+2y=6 X+2y =6 Subtract X+2y=6 x =4 84y =09 y=1 y=1
3x =12
9x + 3y =51
3x+y=17 9x + 3y =51 3x+y=17 x=25
— . _ Add +2X—3_’y=4 x =75 B y=2 ~
2x —3y =4 2x —3y =4 11y “=c 15+y=17 y =2
x—5y=9 x—5y=9
x—5y=9 x—5y=9 x =4
. _ Add +20X+5y=75 x =4 4—5y=9 y:-l .
4x+y =15 | 20x +5y =75 1% — a4 _5y=-5 y=-1
_ B 8x + 6y =2 4x +3y =1 .
;}x_-; 331_-_?3 3336_263]___224 Add +3x—-6y=—-24 |x=-2| -8+3y=1 | y=3 x o 32
Y= Y= 11x  =-22 3y =9 V=
_ . 4x — 10y = 26 2x — 5y =13 B
iﬁ - ;y — 13 240xx _1100y __2560 Subtract | —20x =10y =50 |x = 15| 3-5y=13 |y=-2| *~ 1
Y= Y= “16x = —24 5y =10 Y=
_ B 3x+18y =9 x+6y=3 x=-1
Zxxt_69y __34 ii i 123] _ z Subtract | —4x+18y =8 |x=-1| -1+6y=3 | y== 2
Y= V= —1x =1 6y = 4 3 Y= 3




